Foa=ine

we don't know a... so that

&
V= 60.0kuh =36 = [b. (Fm/c

Vo; Oml} 0
i SO A
il 0= 7= 3086w

mel": MG :(HDij)(?OKégn/,z)
= 3400\



Worksheet 4.6 -Newton's 2nd Law part 2

A c

Remember, while the car is
rolling there is no Fapp
therefore the net force = Ff

Ea B
6 E&.[— = W a

Ea = na
But first kinematics... O

Uz Owmls )ﬂ""‘ L+ Lad

Remember that we will
use the "-" sign when
doing kinematics but not

<in our force equations

b 2ma= (1400g)( 1.2 30462
= 1800 N



Worksheet 4.6 -Newton's 2nd Law part 2

Since v = constant
a=o
therefore Fnet = O
so Fapp = Ff

Fapp= Fp= 3500

Note the speed of the truck (35 m/s) does
not matter, just that it is constant



Worksheet 4.6 -Newton's 2nd Law part 2

D a
Fu

£ H&} =mo

Since there is only Fapp
% which is winning and no
opposing forces
Fnet = Fapp

):a";:: M A
use @Wm = (35)(3)(3-0"!')
s =785 N
=Z2¢0M

ES & Fano3255’v

Fa Fne"':' m Q.

Fne‘l":‘ E”‘F{'
= 755N~ 80N
= 75N
_ Fnet F5N
~ m T g5 kﬁ
= (.88 wm/s?

a



Worksheet 4.6 -Newton's 2nd Law part 2

Fa since V = constant
Py a=o
therefore Fnet = o
therefore Fapp = Fg

h

Fa = 1:31 m 9
" = (15kg)(1.80°%)
= 50N



Worksheet 4.6 -Newton's 2nd Law part 2

6) T FneJ' = Mma

T- ’:j —ma
,(. \OB@V‘
winnev
T:'_ ma + F:j
F w‘ﬂ -+ T=(4.0kg6 2+ 312N
-( 4. om])(‘l 80‘1:’-) _

= BIN



Worksheet 4.6 -Newton's 2nd Law part 2

#
) Fa'w‘

Fo=ma = (75ka)( 1. 8%2)
= 735N

Fak =ma
Fair - FJ =ma
Fav = ma + Fﬁ

(Uh oh! No
acceleration... you
know what time it is!!!

V= 25kmh=3.0= 6. {44 mls
Vo= 220kmlh =3.6=61. Il m/s

a="
d= V=V, ‘I'O»‘J'
=385 ~ V—\Vo
T
:—I 4‘.&5”’32
F;w = ma + Fﬂ

= (75 ky)(14-25%) + 735N
= [800MN



Worksheet 4.6 -Newton's 2nd Law part 2

= (45Kg)10.5¢"6") + ¢S N
= 540N



Worksheet 4.6 -Newton's 2nd Law part 2

q\ a.
Note that since the car
bounces backwards its
final velocity is
F negative!!l
N
ol )
Fret =ma

FS FW““ = ma

V== 8.0ms V=V, +0~+

V0= %4-.001\,5 o= V- Vo
= ! +

d= = (- —(74.0",
‘= 0.%0s ( 3.0'?‘“552- )

= ?)5-66 mlgz

wall = Mma
k \-:-V(“Pa'a'oq)(SS.Sé njs?)

= 49x"N




Worksheet 4.6 -Newton's 2nd Law part 2

Vo= 24.0wls ’
a1 a= V= Vo
= 1+
Y= 0.0%0s = (-8.0'1s)-—(2"r‘£"£l
~ 0.080s
=-400 mis?
F\.Ja“ = Mma

10
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